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Conjugate Acids + Indicators
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1. Ineach case below for any substance on the LEFT side of the arrow, mark it as follows: circle any acid,

underline any base, cross out anything that is neither an acid nor a base. (If you are stuck, look gt;the example
on Question #10)
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2. What coloris phenolphthalem in very basic solution? aﬂfé i
Common Acid—-Base Indicators 3. Asample of a solution with a!EH of 10 is tested
separately with phenolphthalein and litmus indicator. The
Approximate colors of the indicators are as follows (choose only one letter )
Indicator pH Range Color —
for Color Change . litmus is blue; phe alein is pink”
Change b. litmus is red; phenolphthalein is pink
methy] orange 3.1-4.4 red to yellow c. litmus is blue; phenolphthalein is colorless
bromthyvmol hine 6.0-78 vellow to blue V/] d. litmus is red; phenolphthalein is colorless
TR | &
phenalphithalvin 59 (Ccalorless to pink
Titmns 4.5-53 red to blue 4. What color is phenolphtalein in a beaker full of #\ =
bromerosmeen | 3554 | yellowtblnet/| concentrated H,50,7 ACID  So pH ZEEE [ess Than
Rliymaliie 90-95 | vellow to blue /] So Ldiecld be eslonles

5. Ablue solution containing an acid-base indicator was tested with a pH meter and found to have a pH of 5.5.
Which of the i dlztg;/\slc%wn ?cht;e(;ﬂle ablgvéeec%ﬂd be this md:cator?Bc Riue AT THIS -pH
6. A solution was yellow in bromthymol blue and blue in bromcresol green. According to the table here, what
could be the pH of this solution? Less Han 6.0 ? e e B
So  PH shold be Letieor 5 M and G .0
7. Acid was added to a solution containing an indicator until the solution turned from blue to yellow. Which of
the following would be the most acidic?
a. ayellow solution containing bromth
/nyellow solution containing bromcresol
c. ayellow solution containing thymol blue 3 H(

%m‘, AQ(O('DB = Aﬂ <(UZC09} ngOH
8. Complete and balance the neutralization reaction for

a.  HI neutralizing Mg(OH), b.  Al(OH); is mixed with HCHsCOO

i = Mﬁ(oH)z STHM « M,
9. If NH; is a base, what is its conjugate acid?

N,
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10. Using this diagram as a model, draw a complete reaction for each pair below. Label them with the arrows and

all of the words shown in this diagram Tt e e e oy
1 Conjugate acid-base pair

Ca(OH)2 reacting with HCHOO e :
N ( Hao A :
K\—W}* Cq@l-l)z ( HOH 5 C“ C )2 :cn OH + HaO = H,0" + CH:c00-1
\, i i - i
ase I [ o) I
acg Lo S|

11. Ifa beaker contains 0.00000593 moles of H-+ i ions, in 30.0 L of water,
a.  Whatis the [H+]? ,mle; ne
H* THRGH T

-7
[ - 0. comestt v [ £ ltg~ip-A

0. 0L

b.  whatisthe pH?
ph=" ltﬂ["qg‘\o—h] /
Pz (o010 . g

12.. If a beaker contains 4.89x10™ H+ ions, in 0,790 liters of water, =Rt

a. Whatis the [H+]? —
&
ONC T80

b, whatis the pH?

¢ find the number of H+ ons that would be in 2 630.mL (units!) volume of a solution that had the same molarity you found in
answer A,

13. In each case below for any substance on the LEFT side of the arrow, mark it as follows: circle any acid,
underline any base, cross out anything that is neither an acid nor a base.

a. 504" + H;0" >  HSO, + H,0

b. NHy" + H,PO, SH;PO, + NH;
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11. If a beaker contains 0.00000593 moles of H+ ions, in 30.0 L of water,
3. Whatis the [H+]?

b, whatis the pH?

1

12.If a beaker contains 4.89x10™ H+ ions, in 0.790 liters of water, ' e,d'q)‘ & 12« [0 moles
3. Whatis the [H+]2 Nc = :
4, 89 (0" ens % i 0T hkr)'»q
6.02 Conceusdion = [.0%% |0 '/

-0
mele Tons 5 8 '2)( IU moles
<%} fonr =
b.  whatis the pH? ’—/:
-l BT [ ohe ~log 32107
P -log % PH =g 99
& find the number of H+ fons that would be in 2 630.mL (units) volume of  solution that had the same molarity you found in

answer A. Coll(eﬁf“h',,l :@ Moles = <(‘o;\{, >(vcli/~e\
e weles = (103 x10" M0, 690L)

. 5 : M&l’/:—?‘““(
13. In each case below for any substance on the LEFT side of the arrow, mark it as follows: circle any acid,
underline any base, cross out anything that is neither an acid nor a base.

OASWe~

a. S04 > HSO- 't H0
base e
D H,PO, 9H3PO4 + NH;

d Lﬂ%





